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31- It is … necessary that we make a good business plan before trying to start our own company.
1) absolutely 2) differently 3) quietly 4) fluently

32- The doctor ordered the sick man to … off all solid food for at least twenty-four hours.
1) take 2) give 3) turn 4) keep 

33- Summer is here already and very hot weather is expected in the northeast … of the country for 
the next week.

1) continent 2) society 3) century 4) region
34- My … language is Spanish, but I speak English fluently and I have been learning Latin for two 

years.
1) physical 2) native 3) mental 4) skillful

35- Our new telephone answering service meets the … of our customers who want to place an order 
by phone.

1) projects 2) foreigners 3) needs 4) institutes 
36- On the first day of school, a face-to-face meeting between the school manager and new students 

can … a nice welcoming message.  
1) understand 2) interview 3) communicate 4) translate

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct 
choice on your answer sheet. 

Last year, I decided to learn another language because I was going to travel abroad to complete 
my education. At first, I …(37)… some difficulty and found it almost impossible to speak a
foreign language, but I was lucky enough to have a great teacher who …(38)… everything clearly. 
He made me …(39)… with all the minor differences between my mother tongue and the language 
that I wanted to learn. In my opinion, one of the most important …(40)… that you should keep in 
mind when learning another language is to find a good teacher that can make the process 
enjoyable.

37- 1) formed 2) experienced 3) enjoyed 4) practiced
38- 1) explained 2) ranged 3) noticed 4) existed 
39- 1) popular  2) available 3) above 4) familiar
40- 1) activities 2) signs 3) points 4) amounts

  PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer sheet.

Understanding 
People

(Get Ready, 
Conversation, New 

Words and 
Expressions) 



41- To increase the quantity and quality of the products, all machines in the production lines must be 
serviced most … .

1) mainly 2) fortunately 3) interestingly 4) frequently
42- The students who go … the Net all night are always sleepy in the class during the day.

1) singing 2) surfing 3) saving 4) imagining 
43- Life was so terrible for him. He had to look after his sister’s children … his own financial 

problems.
1) despite 2) together 3) according 4) extra

44- The book is designed so skillfully that it can enable the students to … their goals at learning 
English better.

1) vary 2) travel 3) meet 4) circle
45- The factory is going to be closed because children between the ages of 12 to 16 … up almost half 

of its workers.
1) talk 2) give 3) keep 4) make 

46- Although all members of the committee don’t accept your opinion, I agree with you a hundred …
and I’ll support you.

1) percent 2) practice 3) power 4) age 

PART D: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct 
choice on your answer sheet.

Ted Robinson had been worried all week. Last Tuesday, he received a letter from the local police. 
In the letter he was asked to call the station. Ted wondered why he was wanted by the police, but 
he went to the station yesterday and now he is not worried anymore. At the station, he was told by 
a smiling policeman that they had found his bicycle. The policeman told him that they had found 
it in a small village five days before. It is now being sent to his home by train. Ted was very 
surprised when he heard the news. He was also amused, because he never expected he could find 
it. It was stolen twenty years ago when Ted was a boy of fifteen.

47- At first, Mr. Robinson was worried because … .
1) he had lost his bicycle and didn’t find it
2) he was afraid of the police and going to the station
3) he didn’t know why he had to go to the police station
4) someone had stolen his bicycle when he was a little boy

48- Someone had stolen Ted’s bicycle when … .
1) he was twenty years old 2) he was fifteen years old
3) it was being sent to his home 4) the police had found it in the village

49- The word underlined “amused” in the passage means … .
1) feeling tired or impatient
2) feeling or showing happiness
3) thinking that somebody or something is so funny that makes you laugh
4) being unable to think clearly or to understand what is happening

50- When Ted knew that the police had found his bicycle, he was surprised because … .
1) he didn’t believe it happened
2) he was very amused
3) they had sent the bicycle to him
4) the police had found it in a village not in a town

PART C: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer sheet.
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